De e'ncemurum

NDA GAT CLASS TEST (074) - 2023 (MCQS)

Time 150 min. M.M.: 600
INSTRUCTION: Read questions carefully. For each answer, one —third (1.33) of the marks

assigned to that questions contains (4) marks szl @1 sarqd® ufev | ydie Tod Scr @ fow, fav w1v sist
7 9 vep—fasrg (1.33) 3@ ®re ST | ydP T (4) 3id &1 2 |

SPOTTING ERRORS

Directions : Each item in this section has a
sentence with three underlined parts labelled
(a), (b) and (c). Read each sentence to find out
whether there is any error in any underlined part
and indicate your response in the Answer Sheet
against the corresponding letter i.e., (a) or (b) or
(c). If you find no error, your response should be

indicated as (d).

1. (a) Opening his letters,
(b) reading them carefully and sending for
clerk,
(c) he dictated answers with them.
(d) No error.
2. (a) He was my school-friend,
(b) but becoming a great man,
(c) he has grown pround enough to forget
his old friends.
(d) No error.
3. (a) Rabindranath Tagore,
(b) a Nobel laureate and the author of the
national anthem,
(c) found Shantiniketan.

(d) No error.

4. (a) The art of printing was introduced into
England
(b) during the reign of Edward IV
(c) by William Caxton, a native of Kent.
d) No error.
5. (a) From thirty years
(b) he devoted himself to public affairs
(c) without taking a holiday.
(d) No error.

6. (a) If Ramesh will be promoted

(b) he will get

(c) a higher salary.

(d) No error.
7. (a) My brother goes

(b) to the office
(c) five day week.

(d) No error

8. (a) If you lend Mohan a pen
(b) he will lend it to someone else
(c) and never you will get it back.
d) No error.

9. (a) One of most widely spread

(b) bad habits

(c) is the use of tobacco.
(d) No error.
10. (a) A great part
(b) of Arabia
(c) is desert.
(d) No error.

SYNONYMS

Directions : Each item in this section consists

of a sentence with an underlined word followed

by four words or group of words. Select the

option that is nearest in meaning to the

underlined word/words and mark your response

in your Answer Sheet accordingly.

11. Some people complain when they encounter
a small misfortune in the course of their
thoroughly happy life.

(a) run into (b) run away

(c) run down (d) run with
12. This world is full of miseries.

(a) indifferent love

(b) perfect happiness

(c) great suffering

(d) moderate sympathies
13. A glance at a beautiful object gives us

delight.
(a) wisdom (b) happiness
(c) purity (d) peace

14. 1t is terrible for people to die of starvation.
(a) starch (b) staple
(c) plenty (d) hunger

15. The university has constituted a grievance
redressal committee to look into the matter.
(a) depression (b) complaint
(c) abrasion (d) gratefulness
16. Rakesh delivered a slanderous speech.
(a) abusive (b) praiseworthy
(c) moderate (d) inspiring
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17. Suddenly, the sky was darkened by a

gigantic bird.
(a) winged (b) small
(c) tiny (d) enormous

18. To abolish poverty would be to destroy the

soil upon which mankind produces the
virtues conducive to higher civili-zation
(a) detest (b) eradicate
(c) nurture (d) assimilate
19. The Arabs who are not in the cities live in

the desert throughout the year, shifting from

one oasis to another.

(a) sandbank (b) mound

(c) dune (d) spring
20. The various facets of life can be found

reflected in a large city.

(a) several (b) similar
(c) valuable (d) singular
ANTONYMS

Directions : Each item in this section consists

of a sentence with an underlined word followed

by four words. Select the option that is
opposite in meaning to the underlined
word/words and mark your response in your
Answer Sheet accordingly.

21. Ramesh is a very dubious character.

(a) shady (b) suspicious
(c) trustworthy (d) doubtful
22. Do not indulge in unmindful activities,
please.
(a) vigilant (b) careless
(c) stupid (d) fatuous
23. He is suffering from a curable disease.
(a) remediable (b) treatable
(c) terminal (d) operable
24. He was born on a very auspicious day.
(a) propitious (b) fortunate
(c) ominous (d) opportune
25. He has deeper hostility towards Mohan.
(a) animosity (b) belligerence
(c) malice (d) friendship
26. His life is rather monotonous.
(a) exciting (b) dreary
(c) tedious (d) uneventful
27. Macbeth is a morally repulsive character.
(a) abominable (b) attractive
(c) obnoxious (d) ugly

28. The serene beauty of Kashmir had a
soothing effect on his mind.
(a) placid (b) pleasing
(c) tranquil (d) turbulent

29. Life is transient in nature.

(a) brief (b) momentary

(c) eternal (d) short-lived
30. Sohan is a vain person.

(a) modest (b) arrogant

(c) conceited (d) proud

IDIOMS AND PHRASES
Directions: Given below are some
idioms/phrases followed by four alternative
meanings to each. Choose the response (a),
(b), (c) or (d) which is the most appropriate
expression.
31. A dark horse
(a) a black coloured horse
(b) a person who wins a race or competition
although no one expected him to
(c) a person who keeps secrets
(d) an ignorant person
32. A show-stopper
(a) someone who stops the show
(b) someone who organizes the show
(c) a performance that is extremely good
(d) a fashionable person
33. A jack of all trades
(a) someone who has many skills
(b) a confident and not very serious young
man
(c) someone who has hit the jackpot
(d) a great businessman
34. Fight tooth and nall
(a) to quarrel with someone
(b) to attack someone with a lot of force
(c) to try hard to prevent something from
happening
(d) to try very hard to achieve something
35. Fair and square
(a) in an honest way
(b) in a critical way
(c) neither very good nor very bad
(d) in a foolish way

ORDERING OF SENTENCES

Directions : In this section each item consists
of six sentences of a passage. The first and
sixth sentences are given in the beginning
as S1 and S6. The middle four sentences in
each have been jumbled up and labelled P,
Q, R and S. You are required to find the
proper sequence of the four sentences and
mark your response accordingly on the
Answer_Sheet.




36. S1 : We do not know what to do with our

knowledge.
S6 : In the course of time they may rule over

us altogether.
P : For example, we are unable to manage
our machines.
O : We already find it difficult to do without
machines.
R : Machines should be fed properly and
waited upon attentively; otherwise they
refuse to work or cause destruction.
S : Science has given us superhuman
powers, which we do not use properly.
The proper sequence should be
@QSPRO b)PSOR
(c)ORPS (dJ)SRPO

37. S1 : The British rule in India has brought
about moral, material, cultural and spiritual
ruination of this great country.
S6 : We are not to Kill anybody but it is our
dharma to see that the curse of this
Government is blotted out.
P : | regard this rule as a curse.
Q : sedition has become my religion.
R : Ours is a non-violent battle.
S : | am out to destroy this system of
Government.
The proper sequence should be
@ASPRQ (L)PSOR
(c)ORPS (dSRPO
ORDERING OF WORDS IN A SENTENCE
Directions : Each of the following items in
this section consists of a sentence, the parts
of which have been jumbled. These parts
have been labelled P, Q, R and S. Given
below each sentence are four sequences
namely (a), (b), (c) and (d). You are required

to rearrange the jumbled parts of the
sentence and mark your response
accordingly.
38. the urban local body elections (P)
unidentified gunmen (Q)
and injured another during (R)
shot dead two workers (S)
@ QSRP b POSR
()SPROQ (dJRPSO
39. both intense political and (P)
this state has a history of (Q)
of syncretic accomplishments (R)
religious contestation and (S)
@SOPR M POSR
(A)SORP (OPSR

40. the father also (P)
in_his quest for justice (Q)
by the system (R)
feels let down (S)
@SOQOPR
(A)SORP

PSRQ
(DPORS

COMPREHENSION

Directions : In this section you have a
passage. After the passage, you will find some
items based on the passage. First, read the
passage and answer the items based on it. You
are required to select your answers based on
the contents of the passage and opinion of the

author only.

Passage
| do not wish to suggest that because we were

one nation we had no differences, but it is
submitted that our leading men travelled
throughout India either on foot or in bullock
carts. They learned one another’s languages
and there was no aloofness amongst them.
What do you think could have been the intention
of those farseeing ancestors of ours who
established Setubandha (Rameshwar) in the
South, Jagannath in the East and Hardwar in
the North as places of pilgrimage? You will
admit they were no fools. They knew that
workship of God could have been performed
just as well at home. They taught us that those
whose hearts were aglow with righteousness
had the Ganges in their own homes. But they
saw that India was one undivided land so made
by nature. They, therefore, arqued that it must
be one nation. Arquing thus, they established
holy places in various parts of India, and fired
the people with an idea of nationality in a
manner unknown in other parts of the world.
And we Indians are one as no two Englishmen
are. Only you and | and others who consider
ourselves civilized and superior persons
imagine that we are many nations. It was after
the advent of railways that we began to believe
in distinctions, and you are at liberty now to say
that it is through the railways that we are
beginning to abolish those distinctions. An
opium-eater may argue the advantage of
opium-eating from the fact that he began to
understand the evil of the opium habit after
having eaten it. | would ask you to consider well
what | had said on the railways.
41. According to the author, India

(a) has never been one nation




(b) has been an aggregate of several
nations
(c) has always been one nation along with
differences
(d) became a nation after the British came
42. Why did the great sages of India establish
pilgrimages in the different corners of the
country?
(a) Because they wanted to push people to
travel to different places
(b) Because they could observe the
underlying unity of the country as made by
nature
(c) Because they themselves had travelled
to these places
(d) Because they wanted people to be
religious everywhere
43. In the passage, the author’s attitude towards
the railways is
(a) critical (b) sympathetic
(c) indifferent (d) apathetic
44, What does the author mean when he says
that “whose hearts were aglow with
righteousness had the Ganges in their own
homes”?
(a) One need not visit the Ganges to take holy
bath
(b) The Ganges has been polluted, so one should

bath at home

(c) One should take a holy dip in the Ganges to
purify one’s heart

(d) The purity of heart is superior to observance

of any ritual
45. The paragraph is written in a

(a) dialogic style

(b) prescriptive style

(c) descriptive style

(d) analytical style
FILL IN THE BLANK
Directions : Each of the following sentences in
this section has a blank space and four words
or group of words given after the sentence.
Select the word or group of words you consider
most appropriate for the blank space and
indicate your response on the Answer Sheet

accordingly.

46. forests prevent erosion.
(a) Lean (b) Dense
(c) Sparse (d) Tidy

47. Three people were arrested and an illegal
arms unit was by the police in a
raid.

48.

49.

50.

51.

D

53.

54.

(a) revealed (b) searched

(c) discovered (d) busted

A woman got into the car and .

(a) drove off (b) broke down

(c) rode in (d) drove in

The lecture was not very interesting. In fact |
in the middle of it.

(a) showed off

(c) dozed off

(b) put off
(d) plugged off

The cops murder by Kin.

(a) suspect (b) afford

(c) manage (d) administer

A brass ball is tied to a thin wire and swung

so as to move uniformly in a horizontal
circle. Which of the following statements in
this regard is / are true?/va didd @1 g ta
Tdol dx U st 2 3R S 39 ueR u<ifea fear
wirar € o a8 vewaE wfa 9@ &ifos 9o 9 gadh
T | 39 999 A Frafafag s § 9 s/
g 28?2

1. The ball moves with constant velocity/si=
fraa 3w @ wfa et @

2. The ball moves with constant speed/ig
g ara 9 wfa &l 2

3. The ball moves with constant
acceleration/Ag frag @xer 9 1fq el 2

4. The magnitude of the acceleration of the
ball is _constant./iigs @ w@xvr &1 ufkemr fHaq @
Select the correct answer using the code
given below:/sid fad & ®e &1 73T W Gl
Sae g

(a) 1 only/®aa 1

(b) 1 and 3/1 3iix 3

(c)1,2and 4/1, 2 3k 4

(d) 2 and 4 only/®aa 2 3k 4

Two long wires each carrying a d. c. current
in the same direction are placed close to
each other. Which one of the following
statement is correct?/sl o arR ~H ud®
¥ fase g (d.c.) o fezn § yarfza st <& 2.
Th—gMR & fAdc @ 1 ¢ | fF=faRaa soAt &
d ®IwT Up gE B2

(a)The wires will attract each other/darR s —
T Bl mbiRa e

(b)_The wires will repel each other/ar
Tp—gIWR &l ufaeita &1

(c)_There will be no force between the
wires/ari @ €9 @18 ga 9l 8

(d)_There will be a force between the wires
only at the moment when the current is
switched ON or OFF/em=t @ =re] (3if+1) a1 §5
@1T®) X1 @ &1 R & dRl & d19 9o [
The first Indian Satellite, Aryabhatt, was
launched in the year /929 aRdT SUIE,
aive, foa ad & ymifaa fear Tam on?

(a) 1972 (b) 1975
(c) 1976 (d) 1979
Which one of the following sea routes is the

shortest from point to point?fr=faRea T




Al # 9 fod ve 9f 3 Terd—<erd ([Wrse ©
wrge) e ogau 8?
(a) Kolkata to Yangoon/®tddrar € Iid
(b) Kolkata to Chennai/®ia®ar & 3=
(c) Chennai to Port Blair/a=t & uid sax
(d) Mumbai to Colombo/47as ¥ @it

55. Which one of the following is not a Green
House Gas?/fr=feafRad 4 | sl us,
feeyg A T8 27
(a) Water vapors/sied_darsq
(b) Methane/ agta
(c) Ozone/atsi=
(d) Carbon Monoxide/®d+ Miiaags

56. Muscle fatigue is due to the accumulation of
Jasiha sify f=fafaa § 9 foue 9999 @
pruT gidl 87
(a) Cholesterol/®iaeRia
(b) Lactic acid/<fee® 3r«
(c) Lipoic acid/femais® e
(d) Triglycerides/cEfiadvssy

57. The absolute zero, i.e., temperature below
which is not achievable, is about :/uz5 3,
srerfa forae 1 9w arw S8 faran S "er,
ora foar giar 27
(a) 0°C
(b) -273 K
(c) -273 °C
(d) -300 °C

58. Lightning conductors are used to protect
building from lightning strikes. Which of the
following statements is / are true about
lightning conductors?/afsqa amemal | wa=it &1
a1 & ford dfsd arasl &1 SuAT fear sar
2| dfed ardel @ Gy § frAafafaa eeet &
d g Wl w22
1. Lightning conductors create an electric
field at its top so that lightning strikes it
preferentially/afsd arer® 3= Mhd ) va
faega &= g9 @ ot o afsa siftmm= v
34U 1} g 3merd R
2. Lightning conductors reduce the effect of
the strike by uniformly distributing the
charge (current) over the surface of the
building/afed =re®, Waq &1 ¥ds X 3MAY;
(&) B vpaH faald &= e @ YH91d &l
S B od ©
3. Lightning conductors take all charge
(current) to deep down in the earth/afs«a
Ircid R AMEI (81X1) & g & Sl i o
SIS
4. Lightning conductors must be installed at
a place taller than the building/dfsd ara®!
&l Ha+ 9 fedl &3 = w g€ enfua fean
ST ArfEe
Select the correct answer using the code
given below /1 f&d T e &1 YT B G
STR g -
(a) 1 and 2/1 3k 2
(b) 3 and 4 only/®da 3 3 4
(c)1,3and 4/1, 3 3R 4
(d) 4 only/®aa 4

59. Match List | with |l and select the correct
answer using the code given below the Lists
S | g || gafaa i ok gfat @
H fad ™ se &1 gAT Hx U SR gt
List I/3g=h | List 11/ 11
(Manufacturing site)/ (Industry)/
(Faferafor — <era) (S=1)

(a) Ludhiana/ 1. Auto parts/
offrmT | #iex aEd O®Re
(b) Kanpur/ 2. Woolen garments/

HAYR S =
(c) Varanasi/ 3. Leather/
RO ELCH

(d) Vijayawada/ 4. Handloom/
fasrarsT TG
Code :/ae :

A B C D
(@1 4 3 2
(b) 2 3 4 1
(c) 2 4 3 1
(d 1 3 4 2

60. Which one of the following is not a sea port?
\Fr=feRad & @ @i e aqd) ga= =8 87
(a) Paradeep/uridiu
(b) Haldia/zfegan
(c) Diamond Harbour/sra#is srdz
(d) Dhamra/srsrt

61. Consider the following reaction :/ff=faf¥aa
aiftrferar ok faar o -

CH,(Q)+H,0(g) > CO(q)+3H,(g)

In the reaction given above, the mixture of
CO and H, is :/[swd#a aifffsear %, CO @ik H,
&1 Ao« 87

(a) natural gas/urefae tw

(b) water gas/ma — TR ¥ (arex i9)

(c) producer gas/ar JFTR A9 (ST _19)

(d) industrial gas/siteifre i«

62. Living things are grouped into subgroups
like plant kingdom / animal kingdom. Which
one of the following is not correct for animal
kingdom?/sstia aegan’ &1 a9ufa srd/Sig
S IS kA R I A A e | L
i 5 A S O 0 5 L PR S B s 0 £ AR
& 87
(a) Cannot make their own food/a =T wi=
& 91 b
(b) Body contains cellulose/s¥R ¥ dddrs
ghar 2
(c) Do not have chlorophyll/z=# F@i=ifes
ghar 2
(d) Migrate from one place to another/vs
T 9 SR @A ) N &xd ©

63. The silvering in thermos is done to avoid
heat transfer by :/erfa werat & foae grr
Bl dicl ST IR bl b B & 1Y
Yora+ (RrealRr) fvar simar 22
(a) Convection/das+
(b) Conduction/=rer
(c) Radiation/fafe=or




64.

(d) both convection and conduction/&gs=
X AT A

The Manas National Park is situated in the
State of /a1 =™ SEE (A uie) fea
Iy H IafRed 27

(a) Madhya Pradesh/s=auzer

(b) Jharkhand/sm==is

(c) Assam/3r &
(d) West Bengal/af¥=s dwma

65.

66.

67.

Addition of gypsum to cement [} #
fores &1 daio ¢

(a) reduces setting time of cement/¥fie &
TGS UHY Bl HY Bl ©

(b) produces very light colour
cement/srcafie ged 3 &1 HM= 94dr @

(c) increase setting time of cement/¥rie &1
3Tces Y9I dSTdl B

(d) shining surface is formed/=s i<l Was
ERIGI

In case of a compound microscope which of
the following statements is / are
correct?/fed wgad el & fav, frafafea
AT A i/ wd 2872

1. The focal length of the eye piece is
larger than the focal length of the
objective/af3ar a1 wiew g8, aftgzas @
Bipd <9 A AP sidl 2

2. The focal length of the eye piece is
smaller than the focal length of the
objective/ 31 @ Biew g, Afgrae @
Birpdd ¥ A HH Bidl B

3. The image produced in a normal optical
microscope is real/fext a1 g&l¥w
geweeft 9 g1 ufafew arafas siar @

4. The image produced in a normal optical
microscope is virtual/feh s gs il
geweeft § g1 ufafess smarf sar @

Select the correct answer using the code
given below /i1t fad 1@ @ &1 =971 H ULl
I} g -

(a) 1 only/®as 1 (b) 1 and 4/1 3 4
(c)2and 3/2 3k 3 (d) 2 and 4/2 3k 4
Which one of the following statements is not
correct?/fFr=feRad st & | @i va, O
TE 87

(a) The radius of curvature of a concave
mirror is twice its focal length/feft srade d«
P ghdl PIoAT sUB! Biew <3 @I g gl 2
(b) Power of a convex lens is negative and
that of a concave lens is positive/fe=ft s
A B SHAT_RUIHS Bl 8, Waf$ 3add o
B gHAT TP BIdl 8

(c) The radius of curvature of a plane mirror
i_gs infinity/ae gdor @ aspar a1 3=a sidl
(d) When a ray of light passes from an
optically denser medium to an optically rarer
medium, the angle of refraction is greater
than the corresponding angle of
incidence/sid &g warer 1 foxor aegg d§ wrdl

68.

2 o "regd | garerd: favd aregq § ol @ at
JUGdT — PV G ATIdT — bIoT 4 g7 8idl &
Identify the place that is not an oil field :/Ss
I B Ugar SIS ol b dcd &3 T8l ©
(a) Naharkatiya/=szafean

(b) Kalol/®ete

(c) Ledol/arst
(d) Ankleshwar/sieadzax

69.

70.

71.

72.

Ammonia (NH;) obtained from different
sources always has same proportion of
Nitrogen and Hydrogen. It proves the validity
of law of :/faf= eal | ara amif=m (NHs)
¥ Argcio X BSgIoA &I urd Ued WHH
YBdl 21 399 fed e &) dear fug sid 22
(a) Reciprocal proportion/gsed 3-urd

(b) Constant proportion/Rer_surd

(c) Multiple proportion/fera srqurd

(d) None of the above/sugd#a & #ig =&l
Which one of the following statements is not
correct?fr=faRad sl § 4 @i va, Odl
d 87

(a) If the velocity and acceleration have
opposite sign, the object is slowing down/afg
ﬁveéﬁ?a‘\rwa?mﬁﬁﬁﬁé‘,maﬁqﬁﬂﬁ
Rl

(b) If the velocity is zero at an instant, the
acceleration should also be zero at that
instant/afe el dor R a7 = 8, 9@ S &l
R @xvr H = s

(c) If the velocity is zero for a time interval;
the acceleration is zero at any instant within
the time interval/afe foxft wwaiaRta @ fog a7
I 2, d SS9 gauiaRTd | fedl Y gor wv w@xor
3= shn

(d) If the position and velocity have opposite
sign, the object is moving towards the
origin/afy saReufa sk 41 « fags fauda &, at
TEg qd fa=g & X o ¥ @

The IST meridian 82%°E passes through a

number of States in India. Which one of the
following sets of States is correct in this
respect?/IST arater 821/, °E #rea & @%
Ioal | B [ord! 2| 39 ey d oAl @
frafafRad gzl 4 9 <19 a1 e ad 87

(a) Uttarakhand, Uttar Pradesh, Chhatisgarh
and Andhra Pradesh/S<Rr@vs, StRU<T,
BRTe i sngudyr

(b) Uttar Pradesh, Jharkhand, Chhatisgarh,

and Odisha/strucy, sREvs, B<diie 3}
anfeem

(c) Uttarakhand, Uttar Pradesh, Madhya
Pradesh, and Chhatisgarh/St3ravs, STrUcl,
Y X BANTETS

(d) Uttar Pradesh, odisha, Andhra Pradesh
and Chhatisgarh/sczy<er, sifeem, smguser
3R e

Boric acid is an acid because its
molecule:/aiR® e et &, FAif -

(a) accepts OH™ from water releasing

proton/




73.

74.

75.

76.

SU®T V] Td ffad s arad wers @ OH™
dar 2

(b) combines with proton from water
molecule/ SH®T 3] SId AV & WIS & wrel
dgad gl orar 2

(c) contains replaceable H” ion/sa® 3o &
gfereemu-a H s gtar @

(d) gives up a proton/sH®T 3V TH WS BIg
qdr 8

Who among the following discovered the
antibiotic producing fungus from Penicillium
genus?fr=ifaRad § @ feas dfRiferas S
A Yfeamnifes Sdc® das (BTN) B @A B2
(a) Louis Pasteur/qg ure=r

(b) Sir Alexander Fleming/¥R srddsi=sx
FATHT

(c) Stanley Prusiner/®=h gfo-=

(d) Robert Hooke/zee &

Three equal resistances when combined in
series are equivalent to 90 ohm. Their
equivalent resistance when combined in
parallel will be :/d= = ufoxiet =1 siofisea &
T e R g afa)ig 90 ohm 21 5=

R R R el 2 B B S s B e B R K s G B S KA
T B?

(a) 10 ohm (b) 30 ohm

(c) 270 ohm (d) 810 ohm

The following figure represents the velocity-
time graph of a moving car on a
road:/fF=tfea o fexft g R faw= ta
BR BT IT—THY Y% GIATdTl 8 :

D

AT (mis)
-
==}

o AT (5)

Which segment of the graph represents the
retardation?/a1® &1 &i-RT wis Wed &l uelRia
HRdl 87

(a) AB (b) BC

(c) CD (d) None/=ig =&l

Which one among the following places is not
an iron-ore mining area?/fr=feReaa o=l &
BT b, AIe—3AP

(a) Badampahar/arsrusrs

(b) Zawar/<irex

(c) Bailadila/d<«feen

(d) Anantpur/sH=aqx

77.

Match List | with List Il and select the
correct answer using the code given below
the Lists:/=h | & g || @ gafeaa s aix
gt @ 1 @ T g &1 9T e 98 SR

g -

List I/ | List I/ g I
(Forest conservation (Place)
Type)/(ad H3&Ev UaR) (gerar)

(A) National Park/ 1.Dudhwa/
ENEGIRICD gerar

(B) Sanctuary/ 2.Bhitarkanika/

AFIRTY P& OTHT

(C) Biosphere Reserve/ 3.Chilka/
Stiadsd = o1

(sERwer Ruid)
(D) Tiger Reserve/ 4.Nokrek/
s =g AR s
Code:/®e :
A B Cc D
(a) 2 3 4 1
(b) 1 4 3 2
(c) 2 4 3 1
d1 3 4 2

78.

The main constituent of Vinegar is:/Rx®1 &1
= "CH 1 27

(a) Acetic acid/e=fifes area

(b) Ascorbic acid/¥spifd® e

(c) Citric acid/Rife® arvt
(d) Tartaric acid/edR® 3r<

80.

81.

82.

. White Phosphorus glows in the dark due

to:/7dd BiwhRY e ¥ fHa &ror ¥ <@ shar
27

(a)amorphous character/sifsreeea sifiraeor
(b)slow oxidation/#==_sifefi®ur

(c)high ignition temperature/Sza sael-—drg
(d) good conducting property of
electricity/fag[d &1 S<® gdred® [0

Which one of the following is not an
example of eukaryotic organism?/fr=fefRaa
4 9 o e, goRaifesd sfia &1 gaxer =
2?2

(a) Yeast/=fiR (<)

(b) Bacteria/sfrar

(c) Plant/drqu

(d) Human being/4r=i9

Which one of the following statements is not
correct?/frr=fafad weEl § @ &ivar s, O
E 87

(a) The Kelvin scale of temperature is called
the Absolute scale/dra &1 afea arashd w=xH
HIYshH BTl

(b) Visible light radiation has wavelength
range of 400-700 nm/g¥a uwmre fafesor &)
axwe=d 400 — 700 Nm I @

(c) The capacity to do work is called
power/®rt & &+ @ &Hdr Afed eedrd @
(d) The wavelength of Gamma rays is less
than that of X-rays/mar — fexon @ aiaed
X-foxon @ a¥est 9§ &9 Bidl @

A man is sitting in a train which is moving
with a velocity of 60 km/hour. His speed with
respect to the train is:/v® =afea 60 km/sict &
37 | faa Il ¥ do1 2| YA d anie
IS ATl T B2

(a) 10/3 m/s (b) 60 m/s

(c) infinite/sr=a (d) zero/zr=1

83.

Match List | with List Il and select the
correct answer using the code given below




84.

85.

86.

87.

88.

the lists:/ =i | = g || @ gafad sifor ik
gt @ b R T $e o1 9T B UE) SR

g

List I/ | List I/ g |l

(Place)/ (Normal vegetation type)/
(XIm) (= 9 Efd 9eR)
(A) Western Ghats/ 1.Tropical Moist Deciduous/
=Y =1e Swihfege 3mg udsrel

(B) Himanchal Pradesh/
Evergreen/

2. Tropical

fRaraa udwr Swiefedsa werlRa
(C) Haryana and Punjab/ 3.Himalayan Moist
Forest/

gRamn 3 voe fewrerY 3 a9

(D) Chhotanagpur Plateau/ 4.Tropical Thorny
Forest/

USR UG dedl a1
Code:/®z :
A B C D
(a) 2 3 4 1
(b) 1 4 3 2
(c) 2 4 3 1
(d) 1 3 4 2

The term ‘Regur’ is used to mean:

(a) Laterite soil/ R’ 7rsg forus forw wyad
grar 27

(b) Deltaic soil/SeerR® F=1

(c) Red soil/<ie #1781

(d) Black cotton soil/®Teft @urt #7871

Graphite is much better conductor of heat
and electricity than diamond. This is due to
the fact that each carbon atom in
graphite:/gR @1 e dwise & iR fa=a
BT 9gd VT AIcd® & | I8 39 a2 & SR 2
f& dwge d ud® HET U

(a) undergoes sp? hybridization and forms
three sigma bonds with three neighbouring
carbon atoms/ sp® w®<vr | orRar & ik =
Frpcadt ardT axmret @ arer i R sndw
1T @

(b) Undergoes sp® hybridization/ sp*&@®=v @
I[ORAT 2

(c) is tetrahedrally bonded/agqsseaia 3ie fera
ghar @

(d) is free from van der Waals force/ars=
qred g1 9 Hod BidTr @

Which one of the following vitamins is
synthesized in our own skin?/fr=faf¥aa
faerfiy & @ @iq w1 e, s sl o= °
Tvafta siar 272

(a) Vitamin A/ffaerts A

(b) Vitamin B/faerf= B

(c) Vitamin C/faerfm C

(d) Vitamin D/faeiffis D

Which one of the following is the Sl unit of
the thermal conductivity of a

material ?/fr=feRaa & @ @9 te, fodl ugref
@) ST ardedl @1 Sl ga1g 8?

(a) Wm'K* (b) Wm/K

(c) Wm/K? (d) Is'm?K
Which one of the following statements is not
correct?/frr=fafaa st & @ @9 °1 e )
T 287

89.

90.

91.

(a) Conduction can occur easily in solids,
less easily in liquids but hardly at all in
gases/arad sl ¥ gHdr 9, gdl § ®H
RO R ks LIRS K W L s B s B S S

(b) Heat energy is carried by moving
particles in a convection current/ssfia s,
Wagd oRT ¥ a9 o gRT yaifed sidl @
(c) Heat energy is carried by
electromagnetic waves in radiation/ssfia
SHoll, fafexer & g g@a a3 gRT ydifRd
gidl 2

(d) The temperature at which a solid
changes into a liquid is called the boiling
point/ag dra= 5 X @1¥ oivg g9 ¥ uRafda
gidl 2, daei® Pudidl 8

Which one of the following combinations of
stalactites and stalagmites occurrences is
correct?/Rddaerseyd X Kd™ETH @ U

£ e O 1 5 15 5 B 2 1 B B 2 O R O i
2?2

(a) Stalactites hang as icicles of different
diameters and stalagmites hang from the
floor of the caves/ddacrzey faftr=1 <=t @
Jhddl ® ®I H dcd Bld @ X WoHseH
THRT ® dd ° ded 8id 8

(b) Stalactites hang as icicles of different
diameters and stalagmites rise up from the
floor of the caves/ Wddeczcy faft=1 «arat «
9hddl ® ®Y H dcd 8d & X KdHEey
THReN b ded 9 893 Bid ©

(c) Stalactites rise up from the floor of the
caves and stalagmites hang as icicles of
different diameters/ R ddescya THRT @ dd
4 83 ®id § ok Kdmsey faftr= «al &
qpddl ® ®U § dcd Bld ©

(d) Stalactites hang as icicles of different
diameters and stalagmites also hang as
icicles of different diameters/x2daezcsa
faff=1 = @ 9wddl ® ®U 9 ded s8I 8 AN
wWeolwrsey Hf faf= «ural @ qwddr ® U H
ded 8id &

Which one of the following is the correct
sequence about various levels of
organization of Biosphere?/shasisa
(FRNTR®HIR) @ Wed @ fafr=1 Wl & IR #
frafafaa 4 9 @19 o1 ve, wdl qgHa 27

(a) Eco system — Biosphere — Community —
Population/aiRReifas a3 — Shavisd — a9
— ST

(b) Population — Organism — Eco system —
Biosphere/smaiwar — sfla — yiRReafas a9 —
Sadsd

(c) Organism — Community — Population —
Biosphere/sfia — w¥er — o=@ — Sliqdsd
(d) Organism — Population — Eco system —
Biosphere/sia — s — yiRReafts a9 —
fassa

Which of the following are the properties of
an electron?/fA=ifeiRaa § HI9, sdPSlT @

T 27




92.

93.

94.

95.

(a) Electron is a constituent of cathode
ray/sdaciq deis foxor &1 e 2

(b) Electron is a negatively charged
particle/sd@ei= Folcde ATAI dral HIT 8
(c) The mass of the electron is equal to the
mass of the proton/saasi= &1 s=HME, Wi
b g P aXI6x B

(d) Electron is deflected by the electric field
but not by magnetic field/saaei= fagga &=
g1 fagifia siar @ =g gwa 89 gR1 a1
Select the correct answer using the code
given below/s=a o 1@ @e &1 waiT Hx gl
S g -

(a) 1 and 2 only/®ad 1 3ilx 2

(b)1,2and 3/1, 2 3iix 3

(c)3and 4/3 3iix 4

(d) 1and 4/1 @ik 4

Carbon and energy requirements of
autotrophic organisms are fulfilled
by:/Fauifya sfial &1 w4 i Sul @t
smagged] feas grr gl i €72

(a) Photosynthesis/sarer wasor

(b) Gluconeogenesis/~q@®I¥_Tdao =

(& CAIRS IS R RE))

(c) Glycogenesis/agaisHiaafa
WEIEG A RRiS))

(d) External sources/argr &4

The resistance of a wire of length and area
of cross-section a is X ohm. If the wire is
stretched to double its length, its resistance
would become:/l 91E MR a IAURA — 9=V
g9%d dara fedl arR &1 gfaxig xohm 21 afy
R @ <idrs &1 Hiasx g fear o at
gaal iy feadr g ST?

(a) 2 X ohm (b) 0.5 X ohm

(c) 4 X ohm (d) 6 X ohm

Which one of the following describes the
Lithosphere?/fr=ifaflaa & | #1491 Us,
IAAHUSH BT Ui Bl 872

(a) Upper and lower mantle/sad &k =1
yTaR (Hed)

(b) Crust and upper mantle/add aix Hudh
BIEIES

(c) Crust and core/udd sk ®is

(d) mantle and core/yaR 3R His

Which of the following statements regarding
heavy water are correct?/s 5iad @ wgd d
Fr=faRad sl & &9 9 9d 272

1. Itis extensively used as a moderator in
nuclear reactors/sifiaa Radexi o favce @
w9 A UGl AUS w9 A YT BldT 8

2. It cannot be used in exchange reaction to
study reaction mechanism/sa&1 g=i T
sffpar fparfafs © sere & fog fafsea
sffpar & T foar i gedar

3. Viscosity of heavy water is relatively
smaller than that of ordinary water/s< siei
ga?ﬁ)f?gﬂmwmwaﬁwaﬁaﬁmw

96.

97.

98.

99.

4. The dielectric constant of heavy water is
smaller than that of ordinary water/s s«
BT RIAYdID G od & WRIALdid 4 bH
ghar 2

Select the correct answer using the code
given below:/sia fad & e &1 w=@T ) G
SR g

(a) 1and 2/1 3R 2

(b) 2 and 3/2 @ik 3

(c)3and 4/3 3k 4

(d) 1 and 4/1 six 4

Conservation of momentum in a collision
between particles can be understood on the
basis of :/®vl @ 7= Huc § WA BT G
fra® MR WX GHSM ST GhdT 27

(a) Newton'’s first law of motion/=je= &1 fa
&1 v foaH

(b) Newton’s second law of motion
only/<ge= &1 wifd &1 wad fgda Frm

(c) Both Newton’s second law of motion and
Newton’s third law of motion/=jes1 @ fa &1
aﬁ%in?ﬁwsﬁ?qﬁaﬁﬁmqmﬁw,
(d) Conservation of energy/Ssit @1 |@R&0T
Which one of the following statements is not
correct?/frr=ifaRad eeAl § «iqar ve udl Tl
27

(a) Temperatures decrease from the
egquator to poles/fasaa 94 ¥ gal @ AR
AIYHT el Sl 8

(b) Temperatures in equatorial regions
change substantially from January to
July/fagadi a=f d s@ad |9 odas ® =9
qAgEE 4 AR 9o 8id ®

(c) Large land masses located in the
subarctic and arctic zones develop centres
of extremely low temperatures in winter/sa
SR g4 AR SR gd ucen § safRed 98q
q gefaal 9 Mamwg ¥ Id &° duHH @ o g
faeRa sid €

(d) Highlands are always colder than
surrounding low lands/s=a {fimt, ada
INI—U @) =1 gy 9 oudl il &

To weld metals together high temperature is
required. Such a high temperature is
obtained by burning:/ergstt & v des
P31 @ foIU S=d a9 @) AaTIHAT s 2 | o
9= ar9a feae <89 @ ured s 87

(a) Acetylene in oxygen/sitafis= # gHifed=
(b) LPG in oxygen/sitadiis # va 9t it

(c) Methane in oxygen/sitafisr= & #eiq

(d) Acetylene in nitrogen/srggiaa # v¥fifechs
Two forces, one of 3 newton and another of
4 newton are applied on a standard 1 kg
body, placed on a horizontal and frictionless
surface, simultaneously along the x-axis and
the y-axis, respectively, as known
below:/fesd dfvs sy ador Rd wag w® =@
fodt a9 1 kg @ fiis wx 3 =ged 3iv 4 ged
B T 9l HHI: X-34&T X Y-3q&T B qIfaT U
qrer o X2 2, o fe S R 7 gurtar war @




100.

101.

102.

103.

104.

%

F, =3 N

x-3eg
TFZ =4 M

The magnitude of the resultant acceleration
is :/afRomdt avor &1 gRHT F™ T 272

(a) 7 m/s® (b) 1 m/s?
(c) 5 m/s? (d) V7 m/s?
Magnetic meridian is an imaginary /4I®a

AT :

(a) line along north-south/ST=r—=f2rr &
afaer sraue Y@m @

(b) Point/sreufs fag 2

(c) Vertical plane/steaf~ie Seafer dd 2

(d) Horizontal plane/@reaf e &fisr de @
Which endocrine gland requires iodine
to synthesize a particular hormone
whose deficiency may cause goiter
disease?/v# falre gmfa «i, e &+
A Tervs (Tsex) T & Ohdr 2, deafdd
& @ fav foa siaard (Tsisrsa) afy
TN # Argzgddr sidl 22

(a) Hypothalamus/stergaas (Br3uiea®=)
(b) Pancreas/sr=arzra_(dfpar)

(c) Thymus/argad

(d) Thyroid gland/sracufr ((emsRiss ufsn)
Which one of the following is not a part
of nerves?/frr=faRaa # | &9 a1 va
afreren &1 9T TE 87

(a) Axons/tEd—q

(b) Connective tissues/Haisit das

(c) Schwann cells/zar HIfRr&rd

(d) Smooth muscles/=gvr a3t

The product of conductivity and
resistivity of a conductor/f&=fi ara® @t
Arclbdr MR ARRITHdT &1 [O-h w1 gl
27

(a) depends on pressure applied/ag
I <d R R Fvar @

(b) depends on current flowing through
Conductor/ag ards ® garfed a1 4x iR
YT 2

(c) is the same for all conductors/=+t
ATl & foIv g gidr 2

(d) varies from conductor to
conductor/3relfT—3TeliT daTd® H el T—3Tel T
glar 2

We use CFL to save electrical energy
and to provide sufficient light. The full
from of CFL is/faea St @1 qad &=+ a1
i g&rer A & fow g1 CFL &1 Suai
Pxd 2 | CFL &1 [T %9 FI1 22

(a) Condensed filament light/sS<s
e v

105.

106.

107.

108.

(b) Compact filament lamp/®i=ac
framic dw

(c) Condense fluorescent lamp/a<s=s
TARA< a4\

(d) Compact fluorescent lamp/sisiae
TARA< a4\

When the sun is 30° above the horizon
shadow of one tree is 17.3 long. What is
the height of this tree?/se g3 fafas |
30° %W 2 d Us 94 & BT 17.3 M w1
21 39 98 B HdaE 1 27

(a)20m (b) 17.30 m

(c)10m (d)1-73 m

When heat rays are reflected from Earth,

gases like Carbon dioxide, Nitrous oxide
do not allow them to escape back to the
space causing our planet to heat up.
These gases are known as/sid &
foxol gedft ¥ wxrafda s € ot @+
SIRATHNTSS, e JATdrss ol 19 5=
g aRe ¥ T8 w1 adl, e srRur
TART 8 ¥ glar 2 1 & 99 1 HEardl 287
(a) Noble gas/Swre (Fige)id

(b) Green-house gas/i#= — &9 _#9

(c) Hot gas/aw #iw

(d) Blue gas/tet ¥ (sq_i%1)

A spring can be used to determine the
mass m of an object in two ways(i) by
measuring the extension in the spring
due to the object; and (ii) by measuring
the oscillation period for the given mass.
Which of these methods can be used in
a space station orbiting Earth?/f&ft a=q
BT GTIAT M FATd B & Y TH HHN BT
ST & YR | fear o 9ear @ : (i) a%q
o 2 e K O 1 L s e 2 O L s G
3R (i) fd ™ s @ aT &d &1
A9 HX | yedl &1 H&r ¥ uRHBA B 91
foxht siaRe — V= o 399 9 +i9 < fafey
BT wAT fHar o1 Godr 27

(a) Both/==t
(b) Only the extension method/®daa

fawr fafer

(c)_Only the oscillation method/@a«
<rer fafer

(d) Neither/=i=it & & &g &

Match List | with List Il and select the
correct answerusingthecodegiven below
the Lists:/qg= | &t g || @ wrer gafea
sifore 3k gt @ 1 A ™ se a1
TAIT &R 9l SR _gfv ¢

List I/ | List [I/5r I
(Region)/ (Vegetation)/

GE)) (a=eaf)

A. Selves/ 1. Conifers/

(@) (Tgge)




B. Savannas 2. Mosses and Lichens/

Rk 15l A 3R dAZe
C. Taiga/ 3. Epiphytes/
hlll 3ferarey
D. Tundra/ 4. Grasses and trees/
TsT o9 3R &
Code:/aze :

A B C D
(a) 4 1 2 3
(b) 3 2 1 4
(c)3 4 1 2
(d) 4 2 1 3

109. Which of the following statements with

regard to the we stem coastal plain of
India are correct?/vRa @ uf¥=Ffll adia
A @ IR § fr=faRaa et 9 &9 |
gl 27
%. It is a narrow belt./sg t& daivf gl

|
2. ltis an example of submerged
coastal plain/az ffma ada d<E &1 U
FaTeYT 2|
3. It provides natural conditions for
development of ports/ag v+l @ fasra @
fore wrpfas gend usE wear = |
4. It has well developed deltas/sas
gfaefid Seer 2 |
Select the correct answer using the code
given below:/M=a fa M@ &c &1 WOT B
|2l IAX ﬂﬁl’& :
(a) 1,2 and 3 only/®dad 1, 2 31X 3
(b) 1 and 2 only/®da 1 3iix 2
(c)1,2,3and 4/1, 2, 3 31X 4
(d) 3 and 4 only/®a« 3 3iix 4

110. Which one of the following weather

conditions indicates a sudden fall in
barometer reading?fr=fafeaa # | few
TH A39H I | S @ U § UsIus
4 fewdt 282

(a) Stormy weather/qwr_#iaw

(b) Calm weather/zria wtaH

(c) Cold and dry weather/zfia 3ix 150
IRk

(d) Hot and sunny weather/ir 3R guarer
LIRSk

111.Match List | with List Il and select the

correct answer using the code given
below the Lists:/ g | @ g |l & wrer
gafea siw ik gl @ ik 3 ™ $e
BT YT B Fe Sax g -

List I/ | List Il/3=h Il
(island)/ (Location)/
(&) (araferfar)

A. Continental island/ 1. Mauritius/
wereefl fu RIREIRS|

B. Coral island/ 2. Madagascar/
yardd gia FSHRHR
C. Volcanic -island/ 3. Andaman and/

SATaE g s AR
felear gv 9

D. Mountain island/ 4. Maldives/
gddr gg LICEE]
Code:/aze :

A B C D
@2 4 1 3
(b) 2 1 4 3
()3 1 4 2
(d) 3 4 1 2

112. Consider the following diagram:/<=a f&3

T IME R faar :ivn -

i

)

In which one among the following
lettered areas of the diagram would
erosion most likely change the shapes of
the riverbed?/s¥1 a¥ &, 14 fav v
JeRTfed a= 4 4 g ve A, gE&Id: R
ERT 941 ure &) anefaal 3§ uRad+ 819 a1
watfere gHra=T 872

@A (b) B

() C (d)D

113. Match List | with List Il and select the

correct answer using the code given
below the Lists: g=i | & g=h || @ wrer
gafaa s ik g & =1 fd ™ ae
BT AT HR IS SR v -

List I/ g=h | List I/ g=h I

(Cloud)/ (Characteristic)/

@9) (fagioan)

A. Cirrus/ 1. Rain qgiving/
R ayf 3 qrelr

B. Stratus/ 2. Feathery

appearance/

s freeaa (e smafa

C. Nimbus/ 3. Vertically growing/

quiayg Seater 9fg

D. Cumulus/ 4. Horizontally

spreading/

E K] gfoer vama

Code:/®ze :

AB C D

@2 4 1 3

(b) 2 1 4 3

()3 1 4 2




114.

115.

116.

117.

118.

(d)3 4 1 2

The concept of demographic transition
provides a model for/SmTRaa® ™ GHHT
P dheudr fea & fov v ufawy g
Pl 27

(a) analyzing government to changing

pattern of population growth/sem afg
@ d¢ad g0 WHY & ufd aR&r ufafsaran
BT Azl &=

(b) explaining major patterns of global
population movement throughout the
history/sfiera @ R <k # fava sw&n
Fdes @ TS WRUl B AT HIAT

(c) analyzing spatial variations in the
distribution, growth and movement of
population change/s¥ a1 & re1, S-=&T
& faawor, 9fg sk daaw § <enfe faeren
BT fagelyor o

(d) examining the relationship between
economic development and natural

population change/snfifs faera ik ae
fore ST uRada @ ueg W=y @) Sid
BT

Precursor of which one of the following
vitamins comes from
carotene?/fr=faRaa faeifat & 9 fow e
31 I B-HIET | Ui sidr 87

(a) Vitamin A (b) Vitamin C

(c) Vitamin D (d) Vitamin K
‘Lub-dup’ sound | produced due to
action of / ‘@e — =’ safv foa @) fooar @
PRI I BIdl 872

(a) Lage intestine/s< 3ita

(b) Lungs/ews

(c) Heart/zsa

(d) Oesophagqus/Ira-eit

The Sun is observed to be reddish when
it is near the horizon, i.e., in the morning
and the evening. This is because/sia g
fafos @ frac ghar 2, sterfq gag @ik o
$I, d 998 diferdr g fears <ar 21 saar
PRI /T 87

(a) red light is the least scattered by
atmosphere/drd &3l &l digdsd gkl
gAd9 yPIvia gidr 2

(b) red light is most scattered by
atmosphere/qsg ik 3w ¥ A &1 I T
glar 2

(c) it is the color of the Sun in the
morning and evening/gedl &1 aR[Hsd drd
YbTI SAfoTd Bl 2

(d) Earth’s atmosphere emits red light
Thermal conductivity of aluminum,
copper and stainless steel increases in
the order/vqfifrm, amm @ik S RiEl s
P HHT — dATcdhdl g ATHA H dedl 272

119.

120.

121.

122.

(a) Copper<Aluminum< stainless/

Steel/arm < vafifem < RN s

(b) Stainless steel < Aluminum<copper/

SR s < vofafrm <am

(c) Aluminum<Copper<Stainless steel/

vfafm < 9 <SR s

(d) Copper< Stainless Steel <

Aluminum/

" < SR s <vafaftrm

Perspiration cools the body because/

=T IR P SUST BRal B, Hife

(a) presence of water on the skin is
Cooling/aar =R ur+it @t Higeh faadar

<l 2

(b) evaporation requires latent heat

[asfiervT & fAU [W &S B AaTIHdr

gl 2

(c) water has a poor conductor of

heart/ar=i &1 falre &wr S sid) @

(d) water is a poor conductor of

heat/urfi &= &1 &9 ara® 2

The radius of the Moon is about one-

fourth that of the Earth and acceleration

due to gravity on the Moon is about one

—=sixth that on the Earth. From this, we

can conclude that the ratio of the mass

of Earth to the mass of the Moon is

about./aga &1 3= gedfl @ B |

A U — [IYTg ® R dAl W) oy

YT yedl R @ oy XY BT o T Bal

fawar 21 399 89 godl ® qdE &l d@gdr

B THA W TN /T AU B8 BT e

T aed €7

(a) 10 (b) 100

(c) 1,000 (d) 10,000

Which of the following could be the reasons

for the failure of infrastructure projects by

the public sector enterprises?

1. Cost overruns.

2. Ineffective Governance

3.Lack of inter-ministerial/departmental

coordination

4.0ptimum input-output ratio is rarely

observed leading to overcapitalisation

Select the correct answer code:

@1,2,3 (b)1,3,4

(c)2,3,4 (1,2 3,4

Consider the following statements.

1. Among the operationally-run central

public sector undertakings (CPSUs) that

have Ratna status, the majority are

Maharatna companies.

2. Eight core industrial sectors have a total

weight of nearly 70% in the Index of

Industrial Production (IIP).

Which of the above statements is/are

correct?




123.

124.

125.

126.

127.

128.

(a) 1 only (b) 2 only
(c)Both 1 and 2 (d) Neither 1 nor 2

Arrange the following components of
Wholesale Price Index in decreasing order
in terms of their weightage.

1. Fuel and Power

2. Primary Articles

3. Manufactured Products

Select the correct answer code:

(a) 3-2-1 (b) 3-1-2

(c) 1-2-3 (d) 1-3-2

In India’s balance of payment (BoP), which
of the following are categorised under
capital account?

1. Foreign Portfolio Investment

2. External commercial borrowings

3. Trade in services

4. Short-term credit

Select the correct answer code:

(1,2, 3 (b)1,2. 4
(c)1,2 (d)1,2,.3,4
Consider the following statements regarding
Currency chests.

1. Currency chest is a place where Banks
stock the money meant for ATMs.

2. Currency chests are administrated by the
RBI.

3. The security of currency chests is the
responsibility of the bank in which they are
situated.

Which of the above statements is/are
correct?

1,2 (b)1,3

(2,3 (1,2, 3
Consider the following statements.

1. If the rupee’s exchange rate falls, it
implies that buying American goods would
become cheaper.

2. In a free-market economy, the exchange
rate is decided by the supply and demand
for rupees and dollars.

3. In India, the exchange rate is fully
determined by the market.

Which of the above statements is/are
correct?

(a)1,2 (b) 2 only

()2, 3 (1,23
Foreign Contribution Requlation Act (FCRA)
prohibits the receipt of foreign funds by/for
1. Candidates for general elections

2. Media broadcast companies

3. Government servants

4. Cultural and Religious programmes
Select the correct answer code:

(a)1,2,3 (b)1,3,4

()1, 3 (d)1,2,3,4

According to the Centre for
Monitoring Indian Economy (CMIE),
India’s unemployment rate in

December 2022 has been increased to
a 16-month high at how much percent
from 8% in November 20227/ Jicx ®R
HifeRT e geEm (CMIE) &
IR, faxdaR 2022 # YR &I RIS &
G} 2022 H gUfIId W 9GPX 16 o &
Sodl WR R fbd gfdera g 18 27
(a) 8. 10%
(b) 8.20%
c) 8.30%
(d) 8.40%

129.Who has inaugurated the 108" Indian
Science Congress through video
conferencing?/ difsa dIHRIT & AEId
A 1084 WRAR fIgM &0 &1 SgHeH
foae fopar ?
(a) Narendra Modi/=3s AT
(b) Amit Shah/a1#a =me
(c) Rajanth singh/RIo=rr R
(d) Droupadi murmu/sia<r 59

130. Which of the following can be included in the

Foreign Direct Investment?

1. Equity capital of unincorporated bodies
2. Foreign Currency Convertible bonds

3. Non-resident external deposits

4. Reinvesting profits earned from overseas

operations

Select the correct answer code
(a)1,2,3 (b)1,2
()1,2. 4 (d)1,2,3,4

131. Consider the following statements regarding

Small Savings Schemes (SSS).

1. The Central Government operates Small
Savings Schemes (SSS) through the
network of post offices, Public-Sector Banks
and select private sector banks.

2. National Small Savings Fund (NSSF) was
established within the Consolidated Fund of
India for pooling the money from different
SSS.

3. In the last 5 years the Central
Government’s reliance on Small Savings
Schemes for financing its deficit has been

decreasing.

Which of the above statements is/are
correct?

(a) 1 only ) 1,2
1,3 (d) 2,3

132. Harappan crafts display an amazing

degree of standardization, According to
Kenoyer, what was the possible reason




for such an achievement?/zswr i
TEABNI AMTFASH BIfE D A G Bl
y<f¥fd &xdl 21 TR @ IUR, 39 d<8
B SUS & AHd HIRUT FT 17
(a) Availability of raw materials at local
Level/s=d A1d @) I WX 9% UTRIAT
(b) Centralized markets for crafts/ssas
P fav ddiepd IoR
(c) Specialized training centers for
graftsmen/mmﬁ & foru fagrdiea ufdreor
[

(d) State control/’s@ra fRiFvn

133. Consider the following statements about
Ashokan rock edicts:/ern® @ Rl @
IR # fr=falad st w® faar sl :
1. Majior Rock Edict XIII records

Ashoka’s remorse at the sufferings caused by
his kalinga campaign/sssa Rrerew Xll|
AM® b HfeiT ARATT $ HBRYT 83 daAT3I
A U IS9P Ay b JRfIRaa wwar 2
2. Major Rock Edict X records

Ashoka'’s visit to Lumbini./wq@ Rrareds X
%Tsﬁm @1 dfeh 1 a=r & aftiferlRaa sxar

|

3. Major Rock Edict XlI refers to
Dhamma Mahamattas as a new
category of offcers instituted by
Ashoka./sm@ Rraret® Xl srene g’T
Ieefid e 9¢ o @ rferelRal, e
qerdl $i fAfdse oxar @
4. Major Rock Edict XII speaks about
showing tolerance towards all sects/vq&
Rraraw X 9+ el @ afa agazfiiadan
feEm™ & ®rar 2|

Which of the statements given above are
correct?/Swi™ ¥ |4 &I § $AUT WSl B2
(a) 1and 4 only/®da 1 3iix 4
(b) 2 and 3/2 3k 3
(c) 3 and 4/®q« 3 31X 4
(d) 1,2 and 4/1, 3 silx 4

134. Which one of the following is the
common element among Rajagriha,
Vaishali and Pataliptra?/3reryg, demelt 3ix
yrefoaga § fA=faflaa 9 @ &9 I e
JHGT 27
(a) Pali canno of the sthaviravadins was
compiled there/zerfararfeat &1 urfar sriga
q81 ddbfold 3T o1
(b) Ashokan Major Rock Edicts were
found there/sren® & w= RraradE 981 urw
RN
(c) Places where Buddhist Councils
Were held/@ 3 %o & w8t 9lg aifa g8
off
(d) Places associated with the

135.

136.

Mahasanghikas/3 %11 serRiifSrasn &
dig oigal ® dhdw 9 wefea @

Which one amongq the following sects
was associated with Gosala Maskariputa
?/Fr=faRaa § @S9 91 ve WU M
TEPga 9§ defta 27

(a) Vajrayana/asar=t

(b) Ajivikas/amrsfifas

(c) Sthaviravadins/zerfazard:

(d) Mahasanghikas/wsraiferar

Consider the following statements about
the early modern technology in
India:/=a # amer angfe menfiel @ IR
¥ fa=faRaa sl W faar #ifvg -

1. The Portuguese brought European
moveable metal types to Goa in
1550./gdrelt 1550 # gRIf 9« g <8y
ar ¥ A |

2. The first Indian script of which types
were prepared was Tamil./ugell Jda
fafy, forae <rgy 990 1Y, afirer oft |

3. The English Company’s first
experiment with printing press was at
Calcutta./3Raer 99 &1 JEUITd_ &I U8l
T HABIT A AT |

4. The English Company imported
printing press to India in 1674-75 at the
request of Bhimji Parak./sfierer &w+h 3
HHoll TR @ AT W= SV 1 HRd §
1674—75 ¥ 3ImATa fHar|

Which of the statements given above
are correct?/Swdm % 4 $i9 94 $U9 G
2?2

(a) 1and 2 only/®da« 1 X 2

(b) 2 and 3/2 3iix 3

(c) 3and 4/3 31} 4

(d) 1,2 and 4/1, 2 31X 4

137.

Which of the following statement (s) is/
are true for Olympia de
Gouges?/fr=faRaa % |4 &9 91/4 &=
ifeiy T TS9 @ IR # 9 /27

1. She was one of the most important

Politically active woman in revolutionary active

woman in revolutionary France./sifa®srh
wig A 98 YoHfade w9 9 afpa 99 9
Jfered Ae@yot Afdemsn # 4 ua off |

2. She was one of the members of the
Committee that drafted the Declaration
of Rights of Man and citizen/ag %9 3iix
TriR® (@9 s fifes ) @ sftert @t
YU T UIeY QAR dxA drell afiifad @
el # 9 uP eff |

3. She wrote the Declaration of the Right
of Woman and Citizen./s=si3 #afear siv
IrR® (a1 Us fufes) @ sifSrert &)
Yo Bl forar |




138.

139.

140.

141.

Select the correct answer using the/
code given below:/fi1 & & @e &1
123 1 G 2 e A i s (2

(a) 1 only/®a< 1 (b) 3 only/®a« 3
(c)1and 2/1 3ilx 2 (d) 1 and 3/1 3ix
3

Arrange the following inventions in the
field of cotton industry in chronological
order/qht o= SeiT @ &= A A dad
frr=faRaa snfaeRl H1 SrarHa (G99 s
d I® X)) § AMEY

1. James Hargreaves'’s Spinning
Jenny/siw sRflest # Ruafsir sish

2. John Kay’s Flying Shuttle/sits @ @t
FAST I

3. Samuel Crompton’s Mule/dgva
SIS bl Hcl

4. Richard Arkwright’'s Water
Frame/R<a$ maxise &1 diex B

Select the correct answer using the code
given below:/Ma fa T ®c &1 W=AT R
el Ia) g

(a)1,3,4,2 (b)2,1.4.3
(c)4,1,3,2 (d)2,4,1,3
Which opposing the Public Safety Bill,
1928 who among the following said that
it was ‘a direct attack on Indian
nationalism, on the Indian National
Congress’ and as ‘ the Slavery of India,
Bill No.1’?/<it® e fagas (ufeas awdh
fact), 1928 &1 foxigr sxad wau fA=faflaa o
A o Far o7 & 98 TR Igag i),
ARA T S99 ) Ao 1ErR 2 SN

i 15 I o O s s L 2 s W B ol 2 0 < 0
(a) Motilal Nehru/=tdara 4gs

(b) Lala Lajpat Rai/<re <rorad I

(c) T Parkasam/dt garer

(d) Diwan Chaman Lal/&&= =#+ «ra
Soon after formation of Indian National
Congress, the British became suspicious
of nationalists. Who among the following
called Congress representing only the
elite-' microscopic minority’ ?/vRda
IS BT BT TS 8I9 & dd s1e fafesr,
Iecarfeat @ afd G 8 e | frefifaa
¥ 4 foa 3 &1 & 199 daa falRre avf
—'geq reuae &1 g ufafafea sxdt 27
(a) Lord Napier/«iis sfrRx

(b) Lord Dufferin/<ifs swik|a

(c) Lord Ripon/«is Ru=

(d) Lord Lytton/«ifs feres

What is the common element among
Ram Prasad Bismol, Roshan Singh and
Rajendra Lahiri?/krvsare faRw«, tvq Riw
IR e L s e o | O 1 | 5 L

142.

143.

144.

(a) They threw a bomb in the Central
Leqislative Assembly on 8 April,
1929/s8l1 8 3nid 1929 &1 dald faeum=

R | I S

(b) They were the founder members of

%warai Part/d == urdl & d9¥aue ae

Q]

(c) They were the founders of Hindustan
Republican Association/d fa=ga=

Rufsass vaifieeE @ Gvemus o

(d) They were associated with Kakori

Conspiracy case/d ®Iaidl Ss39 A/« 9

d9g o

Which of the following is/are not

fundamental right (s) under the
Constitution of India?/v1Ra & wfasm= &

aefig f=faRaa 4 9 &9 9/ q9d IfterR
1. Right to education/Rrer ut @1 3rfrerR
2. Right to work/®m u=t &1 3ifsrer

3. Right to from associations/s g9

@1 e

4. Right to practice any profession./®s

FRT *A @1 AfdR

Select the correct answer using the code

given below:/a & & & &1 9T &

gl Sax 9f

(a) 1 and 2/1 3ix 2

(b) 2 and 4/2 3ix 4

(c) 2 only/®a« 2

(d)1and 3/1 3 3

Mahatma Gandhi’s Hind Swaraj is

essentially/#sram wieh &1 &g @R dwd:

T 8?7

(a) a critigue of Western
modernity/af¥=rit amegfedr @1 ve seraHr
(b) an outline of his philosophy of

gatvaqrahWWg B I9IB qIT B /I —
T

(c) an invocation to Indians to free

themselves from the British/fsfesr | am=

MY I WA S BT IRARN O 3

(d) a blueprint of Gram Swaraj/a™ &I

Bl TH w9 — I

The Seventh Seventh Schedule of the
Constitution of India contains/«=d &

dfaem &) aadi g 9« siafdse 27
(a) provisions regarding the
administration of tribal contains/sieird™

a9l & gImd @ 9R 3 SueY

(b) the Union List, the state list and the
Concurrent List/e =, o g 3ix

RAC IS Gl

(c) a list of recognized
languages/ar=ramrs_ {rSrRl_ & g




(d) provisions about the disqualification
of Members of Legislatures on grounds
on grounds of defection/s«t uRads &
IR R g — wsdl & g & fRgar
® 9R H Sudd
145. Pochampally in Nalgonda district of
Telengana became famous in April 1951

because/d<d =T @ ATermi=sT oa &
qiaq9cell 3d 1951 ¥ b &R uRig &
1?
(a) the Bhoodan movement was
launched there by Vinoba Bhave/fasiar
9d 4 98f & IAfciad R fear
(b) The landless peasants rose up in
arms against the landlords/sf@= feam
gl @ fawg I daY 86 @S 8¢
(c) it witnessed violent anti- Hindi
agitation/sgt fFae £H — faieh angia=
TET AT
(d) Silk weavers’ cooperative was formed

for the first time in India/v~Rd ¥ ug<ll IR
IIM THR ASHINAT BT TSS9 3T

146.Who among the following was not
associated with the Sarvodaya
movement?/f=ifaflaa § 4 *19 "aiga
Aiciad | dag A8l A1?
(a) Jaya Prakash Nartayan [ _g&ren
AR
ff% Acharya Vinoba Bhave/sm=rt fa=tar

(c) Dhirendra Mazumbdar/#iRs #asaerR
(d) G.V Apparao/sit 41 aRE

147. Article 368 of the Constitution of India
deals with/Rad & Hfaems @1 =85 368
foa @ deg # 27
(a) The powers of the Parliament of India

to amend the Constitution/sfasms &1
TINGT S I IR DI AUg Bl IRD

(b) financial emergency/fa<iar amura
(c) reservation of seats for scheduled
Castes and Scheduled Tribes in the Lok
Sabha/ai® w1 § srRqfaa sifaat six
< B s e K S a1 2 O s L s L 2 O L <
(d) Official Language of the Union of
India/v=Ra @9 &1 ITorHIST

148. Which among the following is not a basic
feature of the Constitution of
India?/frr=fafRaa & |4 &9 W, vRa &
Jfaemsr @) ameryd fagyar T8 272
(a) Fundamental rights/qe 3ferarR
(b) Independence of judiciary/-ararferaT
RS GEGI
(c) Federalism/aR&earg (wsfers)
(d)The unqguestioned right of the

Parliament to amend any part of

149.

the/zifaam & felt ft v &1 Seea &=
@1 dag o fafdarg wke

Which one among the following is not a
fundamental duty?/fr=ifelRaa § | &9 @1
Udh, Jol Hd el 272

(a) To abide by the Constitution of India
and respect the national flag and
national anthem/Y=Ra @ <fqem= &1 ure=
BT 3N IS eqol 3N IS T BT 3SR
DT

(b) To safequard publicproperty/sardsifra
dulRT & geféa ==

(c) To protect the Sovereignty, Unity and
Inteqgrity of India/M=Rd &Y w1, Tadr iR
G SAl DI &1 HIAT

(d)To render compulsory military service
[arfard A= |49 ugE ST

150.Consider the following statements.

1. Decline in gold prices leads to decline in a
country’s foreign exchange reserves.

2. If the value of the rupee depreciates, the
RBI intervenes in the forex market by buying
more dollars.

Which of the above statements is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
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